
 

 

[UNIT-6, Constitutional Government and economy of India] 
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1.Who among the following are included 

in the Inter-State Council? 

1. Prime Minister 

2. Chief Ministers of all states 

3. Chief Ministers of Union States with 

Legislatures 

4. eight union cabinet ministers 

5. Administrators of Union States with 

Legislatures 

(a)1,2,3,4 and5 (b) 1,2,3 and 4 

(c) 1,2 and 3  (d) 1,2,3 and 5 
2. Which of the following cabinet level 
committees is not chaired by the Prime 
Minister? 
(a)Committee on Political Affairs 
(b) Appointments Committee 
(c) Parliamentary Committee 
(d) Economic Committee 
3. List-I (Schedules in the Constitution)                                         
List-II (Provisions)  
A. Sixth Schedule                                                         
1. Administration and control of 
scheduled areas and scheduled tribes.  
B. Second Schedule                                                    
2. Administration of tribal areas in 
states of Assam, Meghalya, Tripura and 
Mizoram.  
C. Twelfth Schedule                                                    
3. Provisions as to the Speaker and 
Deputy Speaker of state Legislative 
Assemblies.  

D. Fifth Schedule                                                      

4. Powers, authority and responsibilities 

of municipalities.                                                                                    

5. Powers, authority and responsibilities 

of Panchayats.   

Codes: A B C D  

(a)1 3 4 2   (b) 1 2 5 3  

(c) 2 3 4 1   (d) 2 3 5 1 

4. The most important Legislative power 

of the Governor is:  
(a)Nominating members to the state 
legislature.  
(b) Issuing ordinances  
(c) Assenting bills passed by the state 
legislature  
(d) Dissolving the state legislative 
Assembly 

1-varjkZT;h; ifj"kn~ esa fuEu esa ls dkSu 
dkSu 'kkfey gksrs gSa  
1 çèkku ea=h  
2 lHkh jkT;ksa ds eq[;ea=h  
3 foèkku eaMy;qä la?k jkT;ksa ds eq[;ea=h  
4 vkB dsaæh; dSfcusV ea=h  
5 foèkku e.My;qä la?k jkT;ksa ds ç'kkld  
¼,½1]2]3]4] vkSj 5  ¼ch½1]2]3] vkSj 4 

¼lh½1]2] vkSj 3  ¼Mh½1]2] 3 vkSj 5 

2- eaf=eaMy Lrj dh fuEu lfefr;ksa esa ls 
fdldh vè;{krk çèkku ea=h ugÈ djrs \ 
¼,½jktuhfrd ekeyks lEcUèkh lfefr  

¼ch½fu;qfä lfefr  

¼lh½ lalnh; lfefr  

¼Mh½ vkÆFkd lfefr 

3- lwph&I ¼lafoèkku esa vuqlwfp;ka½ 
lwph&II ¼çkoèkku½ 
¼,½NBh vuqlwph 1- vuqlwfpr {ks=ksa vkSj 
vuqlwfpr tutkfr;ksa dk ç'kklu vkSj 
fu;a=.kA 
¼ch½  nwljh vuqlwph 2- vle] es?kky;] 
f=iqjk vkSj fetksje jkT;ksa esa tutkrh; 
{ks=ksa dk ç'kkluA 
¼lh½ ckjgoÈ vuqlwph 3- jkT; 
foèkkulHkkvksa ds vè;{k vkSj mikè;{k ds 
:i esa çkoèkkuA 
¼Mh½ ikapoÈ vuqlwph 4- uxjikfydkvksa dh 
'kfä;ka] çkfèkdkj vkSj mÙkjnkf;RoA 5- 
iapk;rksa dh 'kfä;k¡] vfèkdkj vkSj 
mÙkjnkf;RoA 
dksM% , ch lh Mh 

¼,½ 1 3 4 2 

¼ch½ 1 2 5 3 

¼lh½ 2 3 4 1 

¼Mh½ 2 3 5 1 

4- jkT;iky dh lcls egRoiw.kZ foèkk;h 
'kfä gS% 
¼,½ jkT; foèkkf;dk ds fy, lnL;ksa dks ukfer 

djukA 

¼ch½ vè;kns'k tkjh djuk 

¼lh½ jkT; foèkkf;dk }kjk ikfjr Loh fr fcy 

¼Mh½ jkT; foèkku lHkk dks Hkax djuk 



 

 

5. Which of the following statements is 

incorrect?  

(a)Adjournment means an interruption in 

normal business of the Assembly.  

(b) Prorogation means the end of the 

Assembly.  

(c) Dissolution means the end of the 

Assembly.  

(d) Proroagation means end of a session of 

the Assembly. 

6.Which of the following is not a 

formally prescribed device available to 

the members of Parliament?  

(a)Question Hour  

(b) Zero Hour  

(c) Half-an-hour discussion  

(d) Short duration discussion  

7. Which of the following is exclusively a 

committee of the Lower House:  

(a)Committee on Assurances  

(b) Committee on Delegated Legislation  

(c) Committee on Public Undertakings  

(d) Estimates Committee  

8. Which one of the following devices 

calls the attention of minister towards a 

matter of public importance?  

(a)Half-an-hour discussion  

(b) Calling attention notice  

(c) Short duration discussion  

(d) Adjournment motion  

9. Central Vigilance Commission was set 

up on the recommendation of:  

(a)Administrative Reforms Commission of 

India  

(b) Gorwala Report  

(c) Kripalani Committee  

(d) Santhanam Committee  

10. The institution of Lokayukta was 

created for the first time by the state of:  

(a)Orissa     

(b) Bihar  

(c)Punjab    

(d) Maharashtra 

5- fuEufyf[kr esa ls dkSu lk dFku xyr 
gS\ 
¼,½ LFkxu dk eryc foèkkulHkk ds lkekU; 

dkedkt esa #dkoV gSA 

¼ch½ l=kolku dk eryc foèkkulHkk dk var 

gSA 

¼lh½ fo?kVu dk vFkZ gS foèkkulHkk dk varA 

¼Mh½ l=kolku dk eryc foèkkulHkk ds ,d 

l= dk var gSA 

6-fuEufyf[kr esa ls dkSu laln ds lnL;ksa 
ds fy, miyCèk vkSipkfjd :i ls 
fuèkkZfjr midj.k ugÈ gS\ 
¼,½ ç'udky 

¼ch½ 'kwU; ?kaVs 

¼lh½ vkèks ?kaVs dh ppkZ 

¼Mh½ NksVh vofèk dh ppkZ 

7- fuEufyf[kr esa ls dkSu fo'ks"k :i ls 
fupys lnu dh ,d lfefr gS% 
¼,½ vkÜokluksa ij lfefr 

¼ch½ çR;k;ksftr foèkku ij lfefr 

¼lh½ lkoZtfud miØeksa ij lfefr 

¼Mh½ izkDdyu lfefr 

8- fuEufyf[kr esa ls dkSu lk midj.k 
lkoZtfud egRo ds ekeys dh vksj ea=h 
dk è;ku vkdÆ"kr djrk gS\ 
¼,½ vkèks ?kaVs dh ppkZ 

¼ch½ è;kukd"kZ.k uksfVl 

¼lh½ y?kq vofèk ppkZ 

¼Mh½ LFkxu çLrko 

9- dsaæh; lrdZrk vk;ksx dh LFkkiuk 
fdldh flQkfj'k ij dh xÃ Fkh% 
¼,½ Hkkjr ds ç'kklfud lqèkkj vk;ksx 

¼ch½ xksjokyk fjiksVZ 

¼lh½ iykuh lfefr 

¼Mh½ laFkkue lfefr 

10- yksdk;qä dh laLFkk igyh ckj fdl 
jkT; }kjk cukÃ xÃ Fkh% 
¼,½ mM+hlk        

¼ch½ fcgkj 

¼lh½ iatkc        

¼Mh½ egkjk"Vª 



 

 

11. The correct statements about zero 
hour includes:  
1. It is the first hour of every sitting in 
both the houses of Parliament.  
2. It is mentioned in the Rules of 
Business of the houses of Parliament.  
3. During this time, matters are raised 
without any prior notice.  
4. It is the time immediately following 
the Question Hour in both the houses of 
Parliament.  
5. It is an Indian innovation in 
parliamentary procedure since 1964.  
(a)2, 3 and 4  
(b) 3 and 4  
(c) 1, 2 and 5  
(d) 2, 3 and 5  
12. The correct statements about calling 
attention notice are:  
1. It is a device of calling the attention of 
a minister to a matter of urgent public 
importance.  
2. Its main purpose is to seek an 
authoritative statement from the 
minister.  
3. It does not involve any censure 
against government.  
4. It is an Indian innovation in the 
parliamentary procedure since 1952.  
5. It is not mentioned in the Rules of 
Business and Procedure.  
(a)1, 2, 3 and 4  (b) 4 and 5  
(c) 1, 2, 3 and 5  (d) 1, 2 and 3  
13. Which of the following statements 
are true of Adjournment Motion?  
1. It is an extraordinary procedure 
which sets aside the normal business of 
the House.  
2. Its main object is to draw the 
attention of the House to a recent matter 
of urgent public importance.  
3. The Rajya Sabha can make use of this 
procedure.  
4. It must be supported by not less than 
50 members for introduction.  

5. It involves an element of censure 

against government.  

(a)1, 2, 4 and 5   

(b) 2, 3 and 5  

(c) 2, 3 and 4  (d) 1, 2 and 4 

11- 'kwU; dky ds ckjs esa lgh dFkuksa esa 
'kkfey gSa% 
1- ;g laln ds nksuksa lnuksa dh çR;sd 
cSBd dk igyk ?kaVk gksrk gSA 
2- bldk mYys[k laln ds lnuksa ds dk;Z 
fu;eksa esa fd;k x;k gSA 
3- bl nkSjku fcuk fdlh iwoZ lwpuk ds 
ekeys mBk, tkrs gSaA 
4- ;g laln ds nksuksa lnuksa esa ç'udky 
ds Bhd ckn dk le; gSA 
5- ;g 1964 ls lalnh; çfØ;k esa ,d 
Hkkjrh; uokpkj gSA 
¼,½ 2] 3 vkSj 4 ¼ch½ 3 vkSj 4 

¼lh½ 1] 2 vkSj 5 ¼Mh½ 2] 3 vkSj 5 

12- è;kukd"kZ.k uksfVl ds ckjs esa lgh 
dFku gSa% 
1- ;g rRdky lkoZtfud egRo ds ekeys 
esa ea=h dk è;ku vkdÆ"kr djus dk ,d 
midj.k gSA 
2- bldk eq[; mís'; ea=h ls vkfèkdkfjd 
c;ku ysuk gSA 
3- blesa ljdkj ds f[kykQ dksÃ Çunk 
'kkfey ugÈ gSA 
4- ;g 1952 ls lalnh; çfØ;k esa ,d 
Hkkjrh; uokpkj gSA 
5- O;kikj vkSj çfØ;k ds fu;eksa esa bldk 
mYys[k ugÈ gSA 
¼,½ 1] 2] 3 vkSj 4 ¼ch½ 4 vkSj 5 

¼lh½ 1] 2] 3 vkSj 5 ¼Mh½ 1] 2 vkSj 3 

13- fuEufyf[kr esa ls dkSu lk dFku 
LFkxu çLrko ds ckjs esa lR; gS\ 
1- ;g ,d vlkèkkj.k çfØ;k gS tks lnu 
ds lkekU; dk;Z dks vyx j[k nsrh gSA 
2- bldk eq[; mís'; rRdky lkoZtfud 
egRo ds ,d gkfy;k ekeys dh vksj lnu 
dk è;ku vkdÆ"kr djuk gSA 
3- jkT; lHkk bl çfØ;k dk mi;ksx dj 
ldrh gSA 
4- ifjp; ds fy, bls de ls de 50 
lnL;ksa }kjk leÆFkr fd;k tkuk pkfg,A 
5- blesa ljdkj ds f[kykQ Çunk dk ,d 
rRo 'kkfey gSA 
¼,½ 1] 2] 4 vkSj 5 

¼ch½ 2] 3 vkSj 5 

¼lh½ 2] 3 vkSj 4 

¼Mh½ 1] 2 vkSj 4 



 

 

14. The ultimate responsibility of taking 

due action on the comments of the CAG 

vests with: 

(a)President of India 

(b) Supreme Court 

(c) Parliament 

(d) National Development Council 

15. The word “Budget” is mentioned in 

which of the following Articles of the 

Constitution of India: 

(a)Art. 266  (b) Art. 112 

(c) Art. 265  (d) None 

16. Which of the following statements 

are incorrect? 

1. Rajya Sabha can reject a Money Bill. 

2. Rajya Sabha can make 

recommendations on a Money Bill. 

3. Rajya Sabha cannot reject a Money 

Bill. 

4. Rajya Sabha should return the Money 

Bill to the Lok Sabha within 14 

days. 

5. Rajya Sabha can amend a Money Bill. 

(a)2, 3 and 4  (b)1, 2 and 5 

(c)1 and 5  (d)only 1 

17. Which of the following statements 

about President‟s ordinance-making 

power is not correct? 

(a)It is co-extensive with legislative power 

of Parliament. 

(b) Laid down in Article 123. 

(c) Shall cease to operate on expiry of six 

weeks from the reassembly of 

the Parliament. 

(d) Cannot be withdrawn at any time by 

the President. 

18. The salient features of the 

Government of India Act, 1935 are: 

1. All India Federation 

2. Provincial Autonomy 

3. Dyarchy at the Centre 

4. Abolition of Dyarchy in the states 

(a)1 and 2  (b)1, 2 and 3 

(c)2, 3 and 4  (d)1, 2, 3 and 4 

14- fu;a=d ,oa egkys[kk ijh{kd dh 
fVIif.k;ksa ij mfpr dkjZokÃ djus dh 
vafre ftEesnkjh fufgr gS% 
¼,½ Hkkjr ds jk"Vªifr ¼ch½ lqçhe dksVZ 

¼lh½ laln         ¼Mh½ jk"Vªh; fodkl ifj"kn 

15- ÞctVÞ 'kCn dk mYys[k Hkkjr ds 
lafoèkku ds fuEufyf[kr esa ls fdl 
vuqPNsn esa fd;k x;k gS% 
¼,½vuqPNsn 266  ¼ch½vuqPNsn 112 

¼lh½vuqPNsn 265  ¼Mh½dksÃ ugÈ 

16- fuEufyf[kr esa ls dkSu ls dFku xyr 
gSa\ 
1- jkT;lHkk èku foèks;d dks vLohdkj dj 
ldrh gSA 
2- jkT;lHkk èku foèks;d ij flQkfj'ksa dj 
ldrh gSA 
3- jkT;lHkk èku foèks;d dks vLohdkj 
ugÈ dj ldrhA 
4- jkT;lHkk dks èku foèks;d dks 14 fnuksa 
ds Hkhrj yksdlHkk dks ykSVk nsuk pkfg,A 
5- jkT;lHkk èku foèks;d esa la'kksèku dj 
ldrh gSA 
¼,½ 2] 3 vkSj 4    ¼ch½ 1] 2 vkSj 5 

¼lh½ 1 vkSj 5        ¼Mh½ dsoy 1 

17- jk"Vªifr dh vè;kns'k cukus dh 'kfä 
ds ckjs esa fuEufyf[kr esa ls dkSu lk 
dFku lgh ugÈ gS\ 
¼,½ ;g laln dh foèkk;h 'kfä ds lkFk 

lg&foLr̀r gSA 

¼ch½ vuqPNsn 123 esa fuèkkZfjrA 

¼lh½ laln ds iqu% la;kstu ls Ng lIrkg dh 

lekfIr ij dke djuk can dj nsxkA 

¼Mh½ jk"Vªifr }kjk fdlh Hkh le; okil ugÈ 

fy;k tk ldrk gSA 

18- Hkkjr ljdkj vfèkfu;e] 1935 dh 
eq[; fo'ks"krk,a gSa% 
1- vf[ky Hkkjrh; la?k 
2- çkarh; Lok;Ùkrk 
3- dsaæ esa }Sèk 'kklu 
4- jkT;ksa esa }Sèk 'kklu dk mUewyu 
¼,½1 vkSj 2      ¼ch½1] 2 vkSj 3 

¼lh½2]3 vkSj 4    ¼Mh½1] 2] 3 vkSj 4 



 

 

19. The accounts of the Union and of the 

States shall be kept in such form as 

prescribed by: 

(a)Finance Minister of India in 

consultation with CAG of India. 

(b) CAG of India with the approval of 

Planning Commission. 

(c) CAG of India with the approval of the 

President. 

(d) President of India in consultation with 

CAG of India 

20. Which of the following acts 

introduced the principle of election in 

India? 

(a)Indian Councils Act of 1861 

(b)Indian Councils Act of 1892 

(c)Indian Councils Act of 1909 

(d)Indian Councils Act of 1919 

21. The features of Indian federal system: 

1. Division of powers 

2. Separation of powers 

3. Independent judiciary 

4. Leadership of the Prime Minister 

5. A written Constitution 

(a)2, 3 and 5  (b)1, 4 and 5 

(c)1, 2 and 5  (d)1, 3 and 5 

22. Which of the following is not correct 

about Finance Commission? 

(a)Constituted at the expiration of every 

fifth year. 

(b) Recommends the distribution of 

proceeds of taxes between Centre and 

states. 

(c) Consists of a Chairman and 4other members. 

(d) Its advice is binding on the 

Government. 

23. Which of the following is correct? 

(a)1909 Act – Principle of election 

(b)1919 Act – Provincial autonomy 

(c)1935 Act – Dyarchy in states 

(d)1947 Act – Responsible government 

19- la?k vkSj jkT;ksa ds [kkrksa dks bl rjg 
ls j[kk tk,xk tSlk fd fuèkkZfjr fd;k 
x;k gS% 
¼,½ Hkkjr ds lh,th ds ijke'kZ ls Hkkjr ds 

foÙk ea=hA 

¼ch½ ;kstuk vk;ksx ds vuqeksnu ls Hkkjr ds 

lh,thA 

¼lh½ jk"Vªifr ds vuqeksnu ls Hkkjr ds lh,thA 

¼Mh½ Hkkjr ds lh,th ds ijke'kZ ls Hkkjr ds 

jk"Vªifr 

20- fuEufyf[kr esa ls fdl vfèkfu;e us 
Hkkjr esa pquko ds fl)kar dh 'kq#vkr 
dh\ 
¼,½ Hkkjrh; ifj"kn vfèkfu;e 1861 

¼ch½ Hkkjrh; ifj"kn vfèkfu;e 1892 

¼lh½ Hkkjrh; ifj"kn vfèkfu;e 1909 

¼Mh½ 1919 dk Hkkjrh; ifj"kn vfèkfu;e 

21- Hkkjrh; la?kh; O;oLFkk dh fo'ks"krk,a 
gSa% 
1- 'kfä;ksa dk foHkktu 
2- 'kfä;ksa dk i`Fkôj.k 
3- Lora= U;k;ikfydk 
4- çèkkuea=h dk usr`Ro 
5- ,d fyf[kr lafoèkku 
¼,½2] 3 vkSj 5         

¼ch½1] 4 vkSj 5 

¼lh½1] 2 vkSj 5        

¼Mh½1] 3 vkSj 5 

22- fuEufyf[kr esa ls dkSu foÙk vk;ksx ds 
ckjs esa lgh ugÈ gS\ 
¼,½ çR;sd ikaposa o"kZ dh lekfIr ij xfBrA 

¼ch½ dsaæ vkSj jkT;ksa ds chp djksa dh vk; ds 

forj.k dh flQkfj'k djrk gSA 

¼lh½ ,d vè;{k vkSj pkj vU; lnL;ksa ls 

feydj curk gSA 

¼Mh½ bldh lykg ljdkj ij ckè;dkjh gSA 

23- fuEufyf[kr esa ls dkSu lgh lqesfyr 
gS\ 
¼,½ 1909 vfèkfu;e & pquko dk fl)kar 

¼ch½ 1919 vfèkfu;e & çkarh; Lok;Ùkrk 

¼lh½ 1935 vfèkfu;e & jkT;ksa esa }Sèk 'kklu 

¼Mh½ 1947 vfèkfu;e & ftEesnkj ljdkj 



 

 

24. The CAG of India can be removed 

from the office only in like manner and 

on like grounds as: 

(a)Chairman of the UPSC 

(b) Supreme Court Judge 

(c) Attorney General of India 

(d) Speaker of Lok Sabha 

25. Statutory recognition to the portfolio 

system was accorded by: 

(a)Indian Councils Act of 1892 

(b) Indian Councils Act of 1871 

(c) Indian Councils Act of 1861 

(d) Indian Councils Act of 1882 

26. Dyarchy was introduced by: 

(a)Indian Councils Act of 1909 

(b) Government of India Act of 1919 

(c) Government of India Act of 1935 

(d) Independence Act of 1947 

27. Which of the following is not a 

feature of Government of India Act of 

1935? 

(a)Dyarchy at the Centre 

(b) All-India Federation 

(c) Provincial autonomy 

(d) Dyarchy in the provinces 

28. Which one of the following 

amendments to the Constitutions, for 

the first time, made it obligatory for the 

President to act on the advice of the 

council of ministers? 

(a)24th amendment 

(b)42nd amendment 

(c)44th amendment 

(d)54th amendment 

29. The Indian federation is based on the 

pattern of: 

(a)Switzerland (b) USA 

(c) Russia  (d) Canada 

30. Who said the “Indian Constitution 

established a unitary state with 

subsidiary federal features rather than 

federal state with subsidiary unitary 

features?” 

(a)Granville Austin (b) Ivor Jennings 

(c) B.R. Ambedkar  (d) K.C. Wheare 

24- Hkkjr ds lh,th dks dk;kZy; ls dsoy 
mlh rjhds ls vkSj leku vkèkkj ij 
gVk;k tk ldrk gS% 
¼,½;wih,llh ds vè;{k      

¼ch½lqçhe dksVZ ds U;k;kèkh'k 

¼lh½Hkkjr ds egkU;k;oknh   

¼Mh½yksdlHkk vè;{k 

25- iksVZQksfy;ks ç.kkyh dks oSèkkfud 
ekU;rk fdlds }kjk çnku dh xÃ Fkh% 
¼,½Hkkjrh; ifj"kn vfèkfu;e 1892 

¼ch½Hkkjrh; ifj"kn vfèkfu;e 1871 

¼lh½Hkkjrh; ifj"kn vfèkfu;e 1861 

¼Mh½Hkkjrh; ifj"kn vfèkfu;e 1882 

26- }Sèk 'kklu dh 'kq#vkr fdlds }kjk 
dh xÃ Fkh% 
¼,½1909 dk Hkkjrh; ifj"kn vfèkfu;e 

¼ch½Hkkjr ljdkj vfèkfu;e 1919 

¼lh½Hkkjr ljdkj vfèkfu;e 1935 

¼Mh½1947 dk Lora=rk vfèkfu;e 

27- fuEufyf[kr esa ls dkSu Hkkjr ljdkj 
vfèkfu;e 1935 dh fo'ks"krk ugÈ gS\ 
¼,½dsaæ esa }Sèk 'kklu         

¼ch½vf[ky Hkkjrh; la?k 

¼lh½çkarh; Lok;Ùkrk         

¼Mh½çkarksa esa }Sèk 'kklu 

28- lafoèkku esa fuEufyf[kr esa ls fdl 
la'kksèku us igyh ckj jk"Vªifr ds fy, 
eaf=ifj"kn dh lykg ij dk;Z djuk 
vfuok;Z cuk fn;k\ 
¼,½ 24 oka la'kksèku    ¼ch½ 42oka la'kksèku 

¼lh½ 44 oka la'kksèku   ¼Mh½ 54 oka la'kksèku 

29- Hkkjrh; la?k fdl iSVuZ ij vkèkkfjr 
gS% 
¼,½fLoV~tjySaM    ¼ch½ ;w,l, 

¼lh½ :l        ¼Mh½ dukMk 

30- fdlus dgk Fkk fd ÞHkkjrh; lafoèkku 
us lgk;d ,dkRed fo'ks"krkvksa okys 
la?kh; jkT; ds ctk; lgk;d la?kh; 
lqfoèkkvksa ds lkFk ,d ,dkRed jkT; dh 
LFkkiuk dh\Þ 

 

¼lh½ ch-vkj- vEcsMdj ¼Mh½ ds-lh- Ogs;j 



 

 

31. The Governor-General of Bengal 

became the Governor-General of India 

by: 
(a)Government of India Act of 1858 

(b) Indian Councils Act of 1861 

(c) Pitts India Act of 1784 

(d) Charter Act of 1833 

32. Which is incorrectly matched? 

(a)Prohibition of Discrimination— Article 

15 

(b) Right to Association—Article 19. 

(c) Right to Protection of Life—Article 20. 

(d) Right to Constitutional Remedies— 

Article 32 

33. Who characterises Indian Union as 

“a federation with a centralising 

tendency?” 

(a)B.R. Ambedkar 

(b) K.C. Wheare 

(c) Ivor Jennings 

(d) Granville Austin 

34. Which act provided for direct 

control of Indian affairs by the British 

Government? 

(a)Charter Act of 1858 

(b) Regulating Act of 1773 

(c) Pitts India Act of 1784 

(d) Charter Act of 1833 

35. The President of India is elected by 

an electoral college consisting of: 

(a)Members of Parliament and state 

legislatures 

(b) Elected members of Parliament and 

state legislatures 

(c) Elected members of Parliament and 

state legislative assemblies 

(d) Elected members of Lok Sabha and 

members of Rajya Sabha and state 

Legislative Assemblies 

36. Which of the following acts laid the 

foundation of Central administration? 

(a)Charter Act of 1833 

(b) Regulating Act of 1773 

(c) Charter Act of 1853 

(d) Pitts India Act of 1784 

31- caxky dk xouZj&tujy fdlds }kjk 
Hkkjr dk xouZj&tujy cuk% 
¼,½ Hkkjr ljdkj vfèkfu;e 1858 

¼ch½ Hkkjrh; ifj"kn vfèkfu;e 1861 

¼lh½ fiV~l bafM;k vfèkfu;e 1784 

¼Mh½ 1833 dk pkVZj vfèkfu;e 

32- dkSu xyr lqesfyr gS \ 
¼,½ HksnHkko dk fu"ksèk& vuqPNsn 15 

¼ch½ ,lksfl,'ku dk vfèkdkj&vuqPNsn 19 

¼lh½ thou dh lqj{kk dk vfèkdkj&vuqPNsn 20 

¼Mh½ laoSèkkfudmipkj dk vfèkdkj& vuqPNsn32  

33- Hkkjrh; la?k dks Þdsaæhdj.k dh ço`fÙk 
okys la?kÞ ds :i esa dkSu fpf=r djrk 
gS\ 
¼,½ ch-vkj- vEcsMdj      

¼ch½ ds-lh- Ogs;j 

¼lh½ vkboj tsÇuXl          

 

34- fczfV'k ljdkj }kjk Hkkjrh; ekeyksa ds 
çR;{k fu;a=.k ds fy, dkSu lk vfèkfu;e 
çnku fd;k x;k Fkk\ 
¼,½ 1858 dk pkVZj vfèkfu;e     

¼ch½ 1773 dk fofu;eu vfèkfu;e 

¼lh½ fiV~l bafM;k vfèkfu;e 1784    

¼Mh½ 1833 dk pkVZj vfèkfu;e 

35- Hkkjr ds jk"Vªifr dk pquko ,d 
fuokZpd eaMy }kjk fd;k tkrk gS ftlesa 
'kkfey gSa% 
¼,½ laln vkSj jkT; foèkkulHkkvksa ds     

lnL; 

¼ch½ laln vkSj jkT; foèkkulHkkvksa ds lnL; 

¼lh½ laln vkSj jkT; foèkkulHkkvksa ds fuokZfpr 

lnL; 

¼Mh½ yksdlHkk ds fuokZfpr lnL; vkSj jkT; 

lHkk vkSj jkT; foèkkulHkkvksa ds lnL; 

36- fuEufyf[kr esa ls fdl vfèkfu;e us 
dsaæh; ç'kklu dh uÈo j[kh\ 
¼,½ 1833 dk pkVZj vfèkfu;e     

¼ch½ 1773 dk fofu;eu vfèkfu;e 

¼lh½ 1853 dk pkVZj vfèkfu;e    

¼Mh½ fiV~l bafM;k ,DV 1784 



 

 

Match List I with List II and select the 

correct answers by using codes given 

below the lists. 

37. List-I                       

A. Bicameral system 

B. Legislative devolution 

C. Separate electorate 

D. Provincial autonomy 

List-II 

1. Government of India Act of 1935 

2. Indian Councils Act of 1861 

3. Montagu-Chelmsford Reforms 

4. Indian Councils Act of 1892 

5. Minto-Morely Reforms. 

Codes: A B C D 

(a)5 2 3 1  (b) 3 4 5 1 

(c) 3 2 5 1  (d) 5 4 3 1 

38. List-I  

A. Equality in Public employment 

B. Minorities rights 

C. Right to personal liberty 

D. Right against exploitation 

List-II 

1. Article 29  2. Article 21 

3. Article 23  4. Article 16 

5. Article 25 

Codes: A B C D 

(a)5 2 3 1  (b) 3 4 5 1 

(c) 3 2 5 1  (d) 4 1 2 3 

39. The Central Administrative 

Tribunal deals with: 

(a)Recruitment matters 

(b) Promotion matters 

(c) Disciplinary matters 

(d) Recruitment and all service matters 

40. Which of the following can provide 

for the appointment of a Joint Public 

Service Commission? 

(a)President  (b) Parliament of India 

(c) UPSC  (d) State Governors 

41. The origins of UPSC can be traced 

to: 

(a)1909 Act  (b) 1919 Act 

(c) 1930 Act  (d) 1947 Act 

lwph I dks lwph II ls lqesfyr dhft, vkSj 
lwfp;ksa ds uhps fn, x, dwV dk ç;ksx 
dj lgh mÙkj pqfu,A 
37- lwph&I 
A- f}lnuh; ç.kkyh 
B- foèkk;h gLrkarj.k 
C- i`Fkd fuokZpd eaMy 
D- çkarh; Lok;Ùkrk 
lwph II 
1- Hkkjr ljdkj vfèkfu;e 1935 
2- Hkkjrh; ifj"kn vfèkfu;e 1861 
3- eksaVsX;w&psElQksMZ lqèkkj 
4- Hkkjrh; ifj"kn vfèkfu;e 1892 
5-  
dksM% , ch lh Mh 

¼,½5 2 3 1              ¼ch½3 4 5 1 

¼lh½3 2 5 1              ¼Mh½5 4 3 1 

38- lwph&I 
¼,½lkoZtfud jkstxkj esa lekurk 
¼ch½ vYila[;d vfèkdkj 
¼lh½ O;fäxr Lora=rk dk vfèkdkj 
¼Mh½ 'kks"k.k ds f[kykQ vfèkdkj 
lwph II 
1- vuqPNsn 29 2- vuqPNsn 21 
3- vuqPNsn 23 4- vuqPNsn 16 
5- vuqPNsn 25 
dksM% , ch lh Mh 

¼,½5 2 3 1               ¼ch½ 3 4 5 1 

¼lh½3 2 5 1              ¼Mh½ 4 1 2 3 

39- dsaæh; ç'kklfud U;k;kfèkdj.k 
lacafèkr gS% 
¼,½ HkrÊ ekeys                  

¼ch½ inksUufr ekeys 

¼lh½ vuq'kklukRed ekeys  

¼Mh½ HkrÊ vkSj lHkh lsok ekeys 

40- fuEufyf[kr esa ls dkSu la;qä yksd 
lsok vk;ksx dh fu;qfä dk çkoèkku dj 
ldrk gS\ 
¼,½Hkkjr ds jk"Vªifr   ¼ch½Hkkjr dh laln 

¼lh½;wih,llh        ¼Mh½jkT; jkT;iky 

41- ;wih,llh dh mRifÙk dk irk yxk;k 
tk ldrk gS% 
¼,½1909 vfèkfu;e  ¼ch½1919 vfèkfu;e 

¼lh½1930 vfèkfu;e ¼Mh½1947 vfèkfu;e 



 

 

42. The functions of the UPSC can be 

extended by: 

(a)President  (b)Prime Minister 

(c)Ministry of Personnel(d)Parliament 

43. The personnel system of any local 

authority, corporate body or public 

institution can be placed within the 

jurisdiction of the UPSC by: 

(a)President of India 

(b)Central Ministry of Personnel 

(c)Parliament (d)Supreme Court 

44. The Chairman and members of the 

UPSC hold office for a term of: 

(a)Three years (b) Four years 

(c)Five years (d) Six years 

45. Who is regarded as the “Father of 

All-India Services?” 

(a)Lord Macaulay (b)Lord Cornwallis 

(c)B.R. Ambedkar (d)Sardar Patel 

46. A Joint Public Service Commission 

can be created by: 

(a)An order of the President 

(b) A resolution of the Rajya Sabha 

(c) An act of Parliament 

(d) A resolution of the concerned state 

legislatures 

47. District Judges are appointed by: 

(a)The Chief Justice of High Court 

(b) The State Public Service Commission 

(c) The Chief Minister of state 

(d) The Governor of state 

48. Money bill can be introduced in the 

state legislature only on the 

recommendation of: 

(a)Speaker  (b)Finance Minister 

(c)Chief Minister (d)Governor 

49. According to the Balwantray Mehta 

Committee, the District Collector 

should be: 

(a)Kept out of the Zila Parishad 

(b) A non-voting member of the Zila 

Parishad 

(c) A member of the Zila Parishad with the 

right to vote 

(d) The Chairman of the Zila Parishad 

42- ;wih,llh ds dk;ks± dks fdlds }kjk 
c<+k;k tk ldrk gS% 
¼,½ jk"Vªifr                      

¼ch½ çèkku ea=h 

¼lh½ dkÆed ea=ky;          

¼Mh½ laln 

43- 
fudk; ;k lkoZtfud laLFkku dh dkÆed 
ç.kkyh dks ;wih,llh ds vfèkdkj {ks= esa 
j[kk tk ldrk gS% 
¼,½Hkkjr ds jk"Vªifr ¼ch½dsaæh; dkÆed ea=ky; 

¼lh½laln    ¼Mh½lqçhe dksVZ 

44- ;wih,llh ds vè;{k vkSj lnL; fdl 
vofèk ds fy, in èkkj.k djrs gSa% 
¼,½rhu lky  ¼ch½pkj lky 

¼lh½ikap lky     ¼Mh½Ng lky 

45- Þvf[ky Hkkjrh; lsokvksa dk tudÞ 
fdls ekuk tkrk gS\ 

  

¼lh½ch-vkj-vEcsMdj  ¼Mh½ljnkj iVsy 

46- ,d la;qä yksd lsok vk;ksx fdlds 
}kjk cuk;k tk ldrk gS% 
¼,½jk"Vªifr dk ,d vkns'k  

¼ch½jkT; lHkk dk ,d çLrko 

¼lh½laln dk ,d vfèkfu;e 

¼Mh½lacafèkr jkT; foèkkulHkkvksa dk ,d ladYi 

47- ftyk U;k;kèkh'kksa dh fu;qfä fdlds 
}kjk dh tkrh gS% 
¼,½mPp U;k;ky; ds eq[; U;k;kèkh'k 

¼ch½jkT; yksd lsok vk;ksx 

¼lh½jkT; ds eq[;ea=h ¼Mh½jkT; ds jkT;iky 

48- èku foèks;d dks jkT; foèkkueaMy esa 
dsoy fdl dh flQkfj'k is'k fd;k tk 
ldrk gS\ 
¼,½yksdlHkk vè;{k   ¼ch½foÙk ea=h 

¼lh½eq[;ea=h          ¼Mh½jkT;iky 

49- cyoarjk; esgrk lfefr ds vuqlkj 
ftyk dysDVj gksuk pkfg,% 
¼,½ftyk ifj"kn ls ckgj j[kk x;k 

¼ch½ftyk ifj"kn dk ,d xSj&ernku lnL; 

¼lh½oksV nsus ds vfèkdkj ds lkFk ftyk ifj"kn 

dk lnL; 

¼Mh½ftyk ifj"kn ds vè;{k 



 

 

50. The Balwantray Mehta Committee 

was a committee on: 

(a)Democratic-decentralisation 

(b) Panchayati Raj institutions 

(c) Administrative arrangements for rural 

development 

(d) Community development programme 

51. Panchayati Raj form of rural local 

government was adopted first by (in the 

order): 

(a)Rajasthan and Madhya Pradesh 

(b) Andhra Pradesh and West Bengal 

(c) Rajashtan and Andhra Pradesh 

(d) Andhra Pradesh and Rajasthan 

52. The District and sessions Judge 

works directly under the control of: 

(a)District Collector 

(b) Governor of the state 

(c) Law Minister of the state 

(d) High Court of the state 

53. Which of the following is a 

committee on Panchayati Raj 

institutions? 

(a)Balwantray Mehta Committee 

(b) G.V.K. Rao Committee 

(c) L.M. Singhvi Committee 

(d) Ashok Mehta Committee 

54. “The state shall take steps to 

organise village Panchayats and endow 

them with such powers as may be 

necessary to enable them to function as 

units of self-government.” This 

provision is mentioned in: 

(a)Part I of the Constitution 

(b) Part IV-A of the Constitution 

(c) Part III of the Constitution 

(d) Part IV of the Constitution 

55. Which of the following 

Constitutional Amendment act provided 

for the appointment of the same person 

as Governor for two or more states? 

(a)4th Amendment 

(b) 7th Amendment 

(c) 11th Amendment 

(d) 24th Amendment 

50- cyoarjk; esgrk lfefr ,d lfefr 
Fkh% 
¼,½ yksdrkaf=d&fodsaæhdj.k 

¼ch½ iapk;rh jkt laLFkku  

¼lh½ xzkeh.k fodkl ds fy, ç'kklfud O;oLFkk 

¼Mh½ lkeqnkf;d fodkl dk;ZØe 

51- xzkeh.k LFkkuh; ljdkj ds iapk;rh 
jkt Lo:i dks lcls igys viuk;k x;k 
Fkk ¼Øe esa½% 
¼,½ jktLFkku vkSj eè; çns'k 

¼ch½ vkaèkz çns'k vkSj if'pe caxky 

¼lh½ jktLFkku vkSj vkaèkz çns'k 

¼Mh½ vkaèkz çns'k vkSj jktLFkku 

52- ftyk vkSj l= U;k;kèkh'k lhèks fdlds 
fu;a=.k esa dke djrk gS% 
¼,½ ftyk dysDVj           

¼ch½ jkT; ds jkT;iky 

¼lh½ jkT; ds dkuwu ea=h   

¼Mh½ jkT; ds mPp U;k;ky; 

53- fuEufyf[kr esa ls dkSu iapk;rh jkt 
laLFkkvksa ij ,d lfefr gS\ 
¼,½ cyoa=s esgrk lfefr   

¼ch½ th-oh-ds- jko lfefr 

¼lh½ ,y,e Çl?koh lfefr  

¼Mh½ v'kksd esgrk lfefr 

54- ÞjkT; xzke iapk;rksa dks laxfBr djus 
ds fy, dne mBk,xk vkSj mUgsa ,slh 
'kfä;k¡ çnku djsxk tks mUgsa Lo'kklu dh 
bdkb;ksa ds :i esa dk;Z djus esa l{ke 
cukus ds fy, vko';d gksAÞ bl çkoèkku 
esa mYys[k fd;k x;k gS% 
¼,½ lafoèkku dk Hkkx I   

¼ch½ lafoèkku dk Hkkx IV-A 

¼lh½ lafoèkku dk Hkkx III  

¼Mh½ lafoèkku dk Hkkx IV 

55- fuEufyf[kr esa ls dkSu lk lafoèkku 
la'kksèku vfèkfu;e nks ;k nks ls vfèkd 
jkT;ksa ds jkT;iky ds :i esa ,d gh 
O;fä dh fu;qfä ds fy, çnku djrk gS\ 
¼,½ pkSFkk la'kksèku         

¼ch½ 7 oka la'kksèku 

¼lh½ 11 oka la'kksèku      

¼Mh½ 24 oka la'kksèku 



 

 

56. Article 154 states that the Governor 

can exercise his executive authority 

either directly or through officers 

subordinate to him. The word 

subordinates 

includes: 

(a)All the ministers and the Chief Minister 

(b) All the ministers except the CM 

(c) Only the Chief Minister and DeputyCM 

(d) Only the Cabinet Ministers 

57. The Constitution says that the state 

council of ministers hold office during 

the pleasure of the Governor. The words 

“during the pleasure of the Governor” 

in reality means: 

(a)Pleasure of the President 

(b) Pleasure of the Prime Minister 

(c) Pleasure of the Chief Minister 

(d) Pleasure of the Legislative Assembly 

58. The term “Cabinet” is mentioned in 

which of the following articles of the 

Constitution? 

(a)Article 74  (b)Article 75 

(c)Article 352 (d)Not mentioned  

59. The first Lokpal Bill was introduced 

in the Parliament in: 

(a)1971  (b)1967 

(c)1968  (d)1972 

60. The Central Vigilance commission 

was set up by: 

(a)Constitutional provision 

(b) Act of the Parliament 

(c) Resolution of the Santhanam Committee 

(d) Executive resolution 

61.National Investment and 

Infrastructure Fund is registered 

under? 

(a)Companies Act, 2013 

(b)RBI Act 1934 

(c)Indian Trust Act 1882 

(d)Cooperative Society Act 1912 

56- vuqPNsn 154 esa dgk x;k gS fd 
jkT;iky vius dk;Zdkjh vfèkdkj dk 
ç;ksx lhèks ;k vius vèkhuLFk vfèkdkfj;ksa 
ds ekè;e ls dj ldrk gSA vèkhuLFk 'kCn 
esa 'kkfey gSa% 
¼,½lHkh ea=h vkSj eq[;ea=h 

¼ch½eq[;ea=h dks NksM+dj lHkh ea=h 

¼lh½dsoy eq[;ea=h vkSj mi eq[;ea=h 

¼Mh½dsoy dSfcusV ea=h 

57- lafoèkku dgrk gS fd jkT; eaf=ifj"kn 
jkT;iky ds çlkn i;±r vius in ij cuh 
jgrh gSA okLro esa ÞjkT;iky ds çlkn 
i;±rÞ 'kCn dk vFkZ gS% 
¼,½ jk"Vªifr dh [kq'kh 

¼ch½ çèkku ea=h dh [kq'kh 

¼lh½ eq[;ea=h dh [kq'kh 

¼Mh½ foèkku lHkk dh [kq'kh 

58- lafoèkku ds fuEufyf[kr esa ls fdl 
vuqPNsn esa ÞdSfcusVÞ 'kCn dk mYys[k 
fd;k x;k gS\ 
¼,½ vuqPNsn 74          

¼ch½ vuqPNsn 75 

¼lh½ vuqPNsn 352       

¼Mh½ mYys[k ugÈ gS 

59- igyk yksdiky foèks;d laln esa is'k 
fd;k x;k Fkk% 
¼,½ 1971          ¼ch½ 1967 

¼lh½ 1968         ¼Mh½ 1972 

60- dsaæh; lrdZrk vk;ksx dh LFkkiuk 
fdlds }kjk dh xÃ Fkh% 
¼,½ laoSèkkfud çkoèkku           

¼ch½ laln dk vfèkfu;e 

¼lh½ laFkkue lfefr dk ladYi 

¼Mh½ dk;Zdkjh ladYi 

61-jk"Vªh; fuos'k vkSj cqfu;knh <kapk dks"k 
fdlds varxZr iath r gS\ 
¼,½daiuh vfèkfu;e] 2013 

¼ch½ vkjchvkbZ vfèkfu;e 1934 

¼lh½ Hkkjrh; VªLV vfèkfu;e 1882 

¼Mh½ lgdkjh lfefr vfèkfu;e 1912 

 



 

 

62. Which of the following is not correct 

about a cantonment board? 

(a)It is created by an executive resolution. 

(b) It works under the administrative 

control of the Union Defence Ministry. 

(c) It is established for municipal 

administration for civilian population in 

the cantonment area. 

(d) It is a statutory body. 

63. If any question arises as to the age of 

a judge of a High Court, the question 

shall be decided by the President after 

consultation with: 

(a)The Chief Justice of the concerned High 

Court 

(b) The Governor of the concerned state 

(c) The Attorney-General of India 

(d) The Chief Justice of India 

64. The need for a separate 

parliamentary committee on public 

undertakings was first visualised by: 

(a)Ashok Mehta 

(b) G.V. Mavalankar 

(c) Lanka Sundaram 

(d) Krishna Menon Committee 

65. The executive officer of the 

cantonment board is appointed by the: 

(a)President of the board 

(b) Defence Secretary 

(c) Chief Secretary of the state 

(d) President of India 

66. Who/which of the following can 

abolish a State Legislative Council. 

(a)Parliament 

(b) President 

(c) Governor 

(d) State Assembly 

67. Which of the following must be 

approved by the Public Accounts 

Committee before being submitted to 

the Lok Sabha for voting? 

(a)Additional grant 

(b) Exceptional grant 

(c) Token grant 

(d) Excess grant 

62- Nkouh cksMZ ds ckjs esa fuEufyf[kr esa 
ls dkSu lk lgh ugÈ gS\ 
¼,½ ;g ,d dk;Zdkjh ladYi }kjk cuk;k x;k 

gSA 

¼ch½ ;g dsaæh; j{kk ea=ky; ds ç'kklfud 

fu;a=.k esa dke djrk gSA 

¼lh½ ;g Nkouh {ks= esa ukxfjd vkcknh ds 

fy, uxjikfydk ç'kklu ds fy, LFkkfir 

fd;k x;k gSA 

¼d½ ;g ,d oSèkkfud fudk; gSA 

63- ;fn fdlh mPp U;k;ky; ds 
U;k;kèkh'k dh vk;q ds lacaèk esa dksÃ ç'u 
mBrk gS] rks ç'u dk fu.kZ; jk"Vªifr }kjk 
ijke'kZ ds ckn fd;k tk,xk%  
¼,½ lacafèkr mPp U;k;ky; ds eq[; U;k;kèkh'k 

¼ch½ lacafèkr jkT; ds jkT;iky 

¼lh½ Hkkjr ds egkU;k;oknh 

¼Mh½ Hkkjr ds eq[; U;k;kèkh'k 

64- lkoZtfud miØeksa ij ,d vyx 
lalnh; lfefr dh vko';drk dh dYiuk 
lcls igys fdlds }kjk dh xÃ Fkh% 
¼,½ v'kksd esgrk   ¼ch½ th-oh- ekoyadj 

¼lh½ yadk lqanjeh ¼Mh½ ".kk esuu lfefr 

65- Nkouh cksMZ ds dk;Zdkjh vfèkdkjh 
}kjk fu;qä fd;k tkrk gS% 
¼,½ cksMZ ds vè;{k 

¼ch½ j{kk lfpo 

¼lh½ jkT; ds eq[; lfpo 

¼Mh½ Hkkjr ds jk"Vªifr 

66- fuEufyf[kr esa ls dkSu@dkSu ,d 
jkT; foèkku ifj"kn dks lekIr dj ldrk 
gSA 
¼,½ laln         ¼ch½ jk"Vªifr 

¼lh½ jkT;iky     ¼Mh½ jkT; foèkkulHkk 

67- yksdlHkk esa ernku ds fy, çLrqr 
djus ls igys fuEufyf[kr esa ls fdls 
yksd ys[kk lfefr }kjk vuqeksfnr fd;k 
tkuk pkfg,\  
¼,½ vfrfjä vuqnku ¼ch½ vlkèkkj.k vuqnku 

¼lh½ Vksdu vuqnku            

¼Mh½ vfrfjä vuqnku 



 

 

68. Which of the following is not 

involved in the preparation of budget? 

(a)Finance Ministry (b) NITI Aayog 

(c) CAG (d) Finance Commission 

69. How many members are nominated 

to the State Legislative Council by the 

Governor? 

(a)One-third  (b)One-twelfth 

(c)One-eighth (d)One-sixth 

70. Which one of the following pairs is 

correctly matched? 

(a)1919 Act - Dyarchy at the Centre 

(b)1861 Act - Portfolio system 

(c)1935 Act - Bicameralism 

(d)1853 Act - Governor-General of India 

71. The present relationship between the 

President and the council of ministers is 

governed by the provisions of: 

(a)42nd Amendment Act 

(b) 48th Amendment Act 

(c) 54th Amendment Act 

(d) 44th Amendment Act 

72. The Zonal Councils have been 

established by: 

(a)Article 263 of the Constitution 

(b) States reorganisation Act 

(c) Zonal Councils Act 

(d) An order of the President of India 

73. Which of the following writs is not 

specifically provided in the Constitution 

of India? 

(a)Prohibition   (b)Mandamus 

(c)Quowarranto   (d)Injunction 

74. Which of the following statements 

are true regarding the composition of 

the Constituent Assembly? 
(a)The representatives were to be elected from the 

four constituents – Hindu, Muslim, Sikh & 

Christian. 

(b) The total strength of the Constituent Assembly 

was 389. 

(c) The chairman of the Union Constituent 

Committee was Sardar Vallabhbhai Patel. 

(d) The Drafting Committee under the 

chairmanship of Dr. B. R. Ambedhkar consisted 

of eight members. 

68- fuEufyf[kr esa ls dkSu ctV rS;kj 
djus esa 'kkfey ugÈ gS\ 
¼,½ foÙk ea=ky;    

¼ch½ uhfr vk;ksx 

¼lh½ fu;a=d vkSj egkys[kk ijh{kd  

¼Mh½ foÙk vk;ksx 

69- jkT;iky }kjk jkT; foèkku ifj"kn ds 
fy, fdrus lnL; euksuhr fd, tkrs gSa\ 
¼,½,d frgkÃ  ¼ch½,d&ckjgosa 

¼lh½,d&vkBoka    ¼Mh½,d&NBk 

70- fuEufyf[kr esa ls dkSu lk ;qXe lgh 
lqesfyr gS\ 
¼,½1919 vfèkfu;e & dsaæ esa }Sèk 'kklu 

¼ch½1861 vfèkfu;e & iksVZQksfy;ks ç.kkyh 

¼lh½1935 vfèkfu;e & f}lnuh;rk  

¼Mh½1853 vfèkfu;e & Hkkjr ds xouZj&tujy 

71- jk"Vªifr vkSj eaf=ifj"kn ds chp 
orZeku lacaèk fdlds çkoèkkuksa }kjk 'kkflr 
gksrs gSa% 
¼,½ 42 oka la'kksèku vfèkfu;e 

¼ch½ 48oka la'kksèku vfèkfu;e 

¼lh½ 54 oka la'kksèku vfèkfu;e 

¼Mh½ 44 oka la'kksèku vfèkfu;e 

72- {ks=h; ifj"knksa dh LFkkiuk fdlds 
}kjk dh xÃ gS% 
¼,½ lafoèkku dk vuqPNsn 263 

¼ch½ jkT; iquxZBu vfèkfu;e 

¼lh½ {ks=h; ifj"kn vfèkfu;e 

¼Mh½ Hkkjr ds jk"Vªifr dk ,d vkns'k 

73- fuEufyf[kr esa ls dkSu lk fjV Hkkjr 
ds lafoèkku esa fo'ks"k :i ls çnku ugÈ 
fd;k x;k gS\ 
¼,½ izfr"ks/k              ¼ch½ ijekns'k 

¼lh½ vf/kdkj i`PNk       ¼Mh½ fu"ksèkkKk 

74- lafoèkku lHkk dh lajpuk ds lacaèk esa 
fuEufyf[kr esa ls dkSu lk dFku lR; gS\ 
¼,½ çfrfufèk;ksa dks pkj ?kVdksa & Çgnw] eqfLye] 

fl[k vkSj ÃlkÃ ls pquk tkuk FkkA 

¼ch½ lafoèkku lHkk dh dqy rkdr 389 FkhA 

¼lh½ la?k dh lafoèkku lfefr ds vè;{k ljnkj 

oYyHkHkkÃ iVsy FksA 

a 

Mªkf¶Vax lfefr esa vkB lnL; 'kkfey FksA 



 

 

75. The constitution of India was framed 

by the constituent Assembly under: 

(a)August Offer of 1940 

(b) Cripps proposal of 1942 

(c) The Cabinet mission Plan of 1946 

(d) The Shimla Conference of 1945 

76. The idea of a Constituent Assembly 

was put forward for the first time by: 

(a)M.N. Roy (b)Dr.B.R.Ambedhkar 

(c) RajendraPrasad(d)Vallabhbhai Patel 

77. The composition of the Constituent 

Assembly was: 

(a)389  (b)385 

(c)388  (d)379 

78. The members of the Constituent 

Assembly were: 

(a)Nominated by the Governor-General 

(b) Directly elected by the people 

(c) Elected by the legislatures of various 

provinces and nominated by the rulers of 

the princely states 

(d) Nominated by the Congress and the 

Muslim League 

79. Who among the following was the 

Constitutional Advisor of the 

Constituent Assembly? 

(a)Dr. B.R. Ambedhkar 

(b) K.M. Munshi 

(c) Sir B.N. Rau 

(d) Jawaharlal Nehru 

80. How many seats were allotted to 

British India and to the princely states 
(a)295 from British India and 94 from the 

princely states 

(b) 296 from British India and 93 from the 

princely states 

(c) 298 from British India and 91 from the 

princely states 

(d) 297 from British India and 92 from the 

princely states 

81.Which among the following is not a 

source of tax revenue? 

(a)Export duties (b)Stamp Fees 

(c)Registration Fees 

(d)Dividends of Public sector enterprises 

75- Hkkjr dk lafoèkku lafoèkku lHkk }kjk 
rS;kj fd;k x;k Fkk% 
¼,½ 1940 dk vxLr çLrko 

¼ch½ 1942 - dk fØIl çLrko 

¼lh½ 1946 dh dSfcusV fe'ku ;kstuk 

¼Mh½ 1945 dk f'keyk lEesyu 

76- lafoèkku lHkk dk fopkj igyh ckj 
fdlds }kjk j[kk x;k Fkk% 
¼,½ ,e-,u-  

 

 

¼Mh½ ljnkj oYyHkHkkÃ iVsy 

77- lafoèkku lHkk dh jpuk Fkh% 
¼,½ 389           

¼ch½ 385  

¼lh½ 388 

¼Mh½ 379 

78- lafoèkku lHkk ds lnL; Fks% 
¼,½ xouZj&tujy }kjk euksuhr 

¼ch½ lhèks yksxksa }kjk pqus x, 

¼lh½ fofHkUu çkarksa ds foèkkf;dkvksa }kjk pqus x, 

vkSj fj;klrksa ds 'kkldksa }kjk ukfer 

¼Mh½ dkaxzsl vkSj eqfLye yhx }kjk euksuhr 

79- fuEufyf[kr esa ls dkSu lafoèkku lHkk 
dk laoSèkkfud lykgdkj Fkk\ 
¼,½  ch-vkj- vacsMdj 

¼ch½ ds-,e- eqa'kh 

¼lh½ lj ch-,u- jko 

¼Mh½ tokgjyky usg: 

80- fczfV'k Hkkjr vkSj ns'kh fj;klrksa dks 
fdruh lhVsa vkoafVr dh xb±\ 
¼,½ 295 fczfV'k Hkkjr ls vkSj 94 fj;klrksa ls 

¼ch½ 296 fczfV'k Hkkjr ls vkSj 93 fj;klrksa ls 

¼lh½ 298 fczfV'k Hkkjr ls vkSj 91 fj;klrksa ls 

¼Mh½ 297 fczfV'k Hkkjr ls vkSj 92 fj;klrksa ls 

81-fuEufyf[kr esa ls dkSu lk dj jktLo 
dk lzksr ugha gS\ 
¼,½ fu;kZr 'kqYd ¼ch½ LVkEi 'kqYd 

¼lh½ iathdj.k 'kqYd 

¼Mh½ lkoZtfud {ks= ds m|eksa ds ykHkka'k 



 

 

82. Who was the President of the 

Constituent Assembly? 
(a)Dr. Bhimrao Ambedkar     

(b) Dr. Rajendra Prasad 

(c) Jawaharlal Nehru          

(d) Motilal Nehru 

83. Who was the Chairman of the 

Drafting Committee of the 

Constitution? 

(a)Jawaharlal Nehru   

(b) Dr. B.R. Ambedhkar 

(c) Subhash Chandra Bose  

(d) Dr. Rajendra Prasad 

84. As a result of partition, a separate 

Constituent Assembly was set up for 

Pakistan and the representatives of some 

provinces ceased to be the members of 

the Assembly. Hence, the total 

membership of the Assembly was 

reduced to: 
(a)270  (b)229 

(c)299  (d)289 

85. Who moved the „Objective 

Resolution‟ in the Assembly On 

December 13, 1946? 

(a)Dr. B.R. Ambedhkar 

(b)Jawaharlal Nehru 

(c)M.N. Roy 

(d)K.M. Munshi 

86. Which article of Indian constitution 

deals with constitutional amendments? 

(a)Article 332 (b)Article 386 

(c)Article  368 (d)None of the above 

87. In which Constitutional Amendment 

Act, Goa was made a full fledged State 

with a State assembly? 
(a)43rd Constitutional Amendment Act, 

1977 

(b) 44th Constitutional Amendment Act, 

1978 

(c) 56th Constitutional Amendment Act, 

1987 

(d) 57th Constitutional Amendment Act, 

1987 

 

82- lafoèkku lHkk ds vè;{k dkSu Fks\ 
 

 

¼lh½tokgjyky usg: 

¼Mh½eksrhyky usg: 

83- lafoèkku dh elkSnk lfefr ds vè;{k 
dkSu Fks\ 
¼,½tokgjyky usg:    

-vkj- vacsMdj 

¼lh½lqHkk"k paæ cksl       

 

84- foHkktu ds ifj.kkeLo:i] ikfdLrku 
ds fy, ,d vyx lafoèkku lHkk dh 
LFkkiuk dh xÃ vkSj dqN çkarksa ds 
çfrfufèk foèkkulHkk ds lnL; ugÈ jgsA 
blfy,] foèkkulHkk dh dqy lnL;rk de 
dj nh xÃ%  
¼,½270           

¼ch½229 

¼lh½299          

¼Mh½289 

85- 13 fnlacj] 1946 dks foèkkulHkk esa 
*mís'; çLrko* fdlus is'k fd;k\ 

-vkj- vacsMdj   

¼ch½ tokgjyky usg: 

¼lh½ ,e-,u-  

¼Mh½ ds-,e- eqa'kh 

86- Hkkjrh; lafoèkku dk dkSu lk vuqPNsn 
laoSèkkfud la'kksèkuksa ls lacafèkr gS\ 
¼,½ vuqPNsn 332        

¼ch½ vuqPNsn 386 

¼lh½ vuqPNsn 368       

¼Mh½ mijksä esa ls dksÃ ugÈ 

87- fdl lafoèkku la'kksèku vfèkfu;e esa 
xksok dks ,d jkT; foèkkulHkk ds lkFk 
,d iw.kZ jkT; cuk;k x;k Fkk\ 
¼,½ 43oka lafoèkku la'kksèku vfèkfu;e] 1977 

¼ch½ 44oka laoSèkkfud la'kksèku vfèkfu;e] 1978 

¼lh½ 56 oka laoSèkkfud la'kksèku vfèkfu;e] 1987 

¼Mh½ 57oka laoSèkkfud la'kksèku vfèkfu;e] 1987 

 



 

 

88. In which Constitutional Amendment 

Act An authoritative text of the 

Constitution in Hindi was provided to 

the people of India by the President? 
(a)57th Constitutional Amendment Act, 

1987 

(b) 58th Constitutional Amendment Act, 

1987 

(c) 59th Constitutional Amendment Act, 

1988 

(d) 61st Constitutional Amendment Act, 

1988 

89. Which Constitutional Amendment 

Act, provided reservation in admissions 

in private unaided educational 

institutions for students belonging to 

scheduled castes/tribes and other 

backward classes? 

(a)93rd Constitutional Amendment Act, 

2006 

(b) 92nd Constitutional Amendment Act, 

2003 

(c) 94th Constitutional Amendment Act, 

2006 

(d) 95th Constitutional Amendment Act, 

2009 

90. Which constitutional amendment 

reduced the voting rights from 21 years 

to 18 years? 
(a)54

th
  (b) 36th 

(c) 62th  (d) 61st 

91. Under which constitutional 

amendment Bill, four languages: Bodo, 

Dogri, Maithali and Santhali are added 

in the 8th schedule of the Indian 

constitution. 

(a)89
th

            (b) 92nd 

(c) 90
th

          (d) 95
th
     

92. Which of the following amendment 

was passed during the emergency? 
(a)45th Amendment 

(b) 50th  Amendment 

(c) 47th  Amendment 

(d) 42nd Amendment 

 

88- fdl lafoèkku la'kksèku vfèkfu;e esa 
jk"Vªifr }kjk Hkkjr ds yksxksa dks lafoèkku 
dk ,d vkfèkdkfjd ikB Çgnh esa çnku 
fd;k x;k Fkk\ 
¼,½ 57oka lafoèkku la'kksèku vfèkfu;e]  

1987 

¼ch½ 58oka laoSèkkfud la'kksèku vfèkfu;e]  

1987 

¼lh½ 59oka laoSèkkfud la'kksèku vfèkfu;e]  

1988 

¼Mh½ 61oka laoSèkkfud la'kksèku vfèkfu;e]  

1988 

89- fdl lafoèkku la'kksèku vfèkfu;e us 
vuqlwfpr tkfr@tutkfr vkSj vU; fiNM+s 
oxks± ds Nk=ksa ds fy, futh xSj lgk;rk 
çkIr f'k{k.k laLFkkuksa esa ços'k esa vkj{k.k 
çnku fd;k\ 
¼,½ 93oka lafoèkku la'kksèku vfèkfu;e]  

2006 

¼ch½ 92oka lafoèkku la'kksèku vfèkfu;e]  

2003 

¼lh½ 94oka laoSèkkfud la'kksèku vfèkfu;e]  

2006 

¼Mh½ 95oka lafoèkku la'kksèku vfèkfu;e]  

2009 

90- fdl laoSèkkfud la'kksèku us ernku ds 
vfèkdkj dks 21 o"kZ ls ?kVkdj 18 o"kZ dj 
fn;k\ 
¼,½54osa        ¼ch½36osa 

¼lh½62osa       ¼Mh½61st 

91- fdl lafoèkku la'kksèku foèks;d ds 
rgr Hkkjrh; lafoèkku dh vkBoÈ vuqlwph 
esa pkj Hkk"kkvksa cksMks] Mksxjh] eSFkyh vkSj 
laFkkyh dks tksM+k x;k gSA  
¼,½89osa        ¼ch½92osa 

¼lh½90osa         ¼Mh½95osa 

92- fuEufyf[kr esa ls dkSu lk la'kksèku 
vkikrdky ds nkSjku ikfjr fd;k x;k 
Fkk\ 
¼,½45oka la'kksèku          

¼ch½50oka la'kksèku 

¼lh½47oka la'kksèku        

¼Mh½42oka la'kksèku 



 

 

93. In which of the following amendment 

the term of Lok Sabha increased from 5 

to 6 years? 
(a)40th Amendment 

(b) 42nd Amendment 

(c) 44th Amendment 

(d) 46th Amendment 

94. Which of the following is true about 

the constitution (42nd amendment) Act, 

1976. 
(a)Precedence to directive principles over 

fundamental rights 

(b) Fundamental duties are included 

(c) Constitutional amendment should not 

be questioned in any court 

(d)All the above 

95. Which of the following amendment 

Act makes the right to education as the 

fundamental right to all the children 

under the age of 6-14 years by inserting 

Article 21A to the constitution. 
(a)87th amendment, 2003 

(b) 86th amendment, 2002 

(c) 88th Amendment, 2003 

(d) 89th Amendment, 2003 

96.Where did India get its concept of 

Single order of court? 

(a) Government of India Act, 1935 

(b) Government of India Act, 1919 

(c) Pitts India Act, 1773 

(d) None of the above 

97.Which of the following statements is 

not true about India's Supreme Court? 

(a) Article 124 to 147 and Part V of the 

Indian Constitution informs about the 

composition and powers of the 

Supreme Court? 

(b) The Supreme Court was inaugurated on 

January 28, 1950 

(c) The first female CJI was from 

Karnataka 

(d) Judges of Supreme Court are appointed 

by the President of India 

93- fuEufyf[kr esa ls fdl la'kksèku esa 
yksdlHkk dk dk;Zdky 5 ls c<+kdj 6 o"kZ 
dj fn;k x;k\ 
¼,½ 40 oka la'kksèku                

¼ch½ 42oka la'kksèku 

¼lh½ 44 oka la'kksèku              

¼Mh½ 46oka la'kksèku 

94- lafoèkku ¼42oka la'kksèku½ vfèkfu;e] 
1976 ds ckjs esa fuEufyf[kr esa ls dkSu 
lk lR; gSA 
¼,½ ekSfyd vfèkdkjksa ij funsZ'kd fl)karksa dh 

çkFkfedrk 

¼ch½ ekSfyd drZO;ksa dks 'kkfey fd;k x;k gS 

¼lh½ lafoèkku la'kksèku ij fdlh Hkh vnkyr esa 

loky ugÈ mBk;k tkuk pkfg, 

¼Mh½ mijksä lHkh 

95- fuEufyf[kr esa ls dkSu lk la'kksèku 
vfèkfu;e lafoèkku esa vuqPNsn 21A dks 
lfEefyr djds 6&14 o"kZ ls de vk;q ds 
lHkh cPpksa ds fy, f'k{kk ds vfèkdkj dks 
ekSfyd vfèkdkj cukrk gSA 
¼,½ 87 oka la'kksèku] 2003 

¼ch½ 86oka la'kksèku] 2002 

¼lh½ 88 oka la'kksèku] 2003 

¼Mh½ 89oka la'kksèku] 2003 

96- Hkkjr dks U;k;ky; ds ,dy vkns'k 
dh voèkkj.kk dgk¡ ls feyh\ 
¼,½ Hkkjr ljdkj vfèkfu;e] 1935 

¼ch½ Hkkjr ljdkj vfèkfu;e] 1919 

¼lh½ fiV~l bafM;k ,DV] 1773 

¼Mh½ mijksä esa ls dksÃ ugÈ 

97-fuEufyf[kr esa ls dkSu lk dFku Hkkjr 
ds loksZPp U;k;ky; ds ckjs esa lR; ugÈ 
gS\ 
¼,½ Hkkjrh; lafoèkku ds vuqPNsn 124 ls 147 

vkSj Hkkx 5 esa loksZPp U;k;ky; dh lajpuk 

vkSj 'kfä;ksa ds ckjs esa crk;k x;k gS\ 

¼ch½ lqçhe dksVZ dk mn~?kkVu 28 tuojh 1950 

dks gqvk Fkk 

¼lh½ igyh efgyk lhtsvkÃ dukZVd ls Fkh 

¼Mh½ loksZPp U;k;ky; ds U;k;kèkh'kksa dh 

fu;qfä Hkkjr ds jk"Vªifr }kjk dh tkrh gS 



 

 

98.Which of the following is not included 

in the qualification for being a judge in 

the Supreme Court? 

(a) He/she should be a citizen of India. 

(b) He should be a respected jurist in the 

eyes of Parliament 

(c) He/She must be a judge in the High 

Court for at least 5 years 

(d) He/ She should be a lawyer in the 

High Court for at least 10 years 

99.Which statement is NOT correct 

regarding the tenure of judges of the 

Supreme Court ? 

(a) A Judge of the Supreme Court can 

remain in office till the age of 65 years. 

(b) Judge of the Supreme Court gives 

his resignation letter to the Chief Justice 

(c) On the recommendation of 

Parliament, he can be removed by the 

President. 

(d) A Supreme Court judge can be 

removed only in the condition of 

misconduct. 

100.Who can remove the Judge of the 

Supreme Court? 

(a) Chief Justice of the Supreme Court 

(b) Only the President 

(c) Only the Parliament 

(d) Both Parliament and President 

 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

98-fuEufyf[kr esa ls dkSu lk mPpre 
U;k;ky; esa U;k;kèkh'k gksus dh ;ksX;rk esa 
'kkfey ugÈ gS\ 
¼,½ og Hkkjr dk ukxfjd gksuk pkfg,A 

¼ch½ mls laln dh f"V esa ,d lEekfur 

fofèkosÙkk gksuk pkfg, 

¼lh½ og de ls de 5 lky ds fy, mPp 

U;k;ky; esa U;k;kèkh'k gksuk pkfg, 

¼Mh½ mls mPp U;k;ky; esa de ls de 10 o"kks± 

rd odhy gksuk pkfg, 

99- loksZPp U;k;ky; ds U;k;kèkh'kksa ds 
dk;Zdky ds lacaèk esa dkSu&lk dFku lgh 
ugÈ gS \ 
¼,½ loksZPp U;k;ky; dk ,d U;k;kèkh'k 65 o"kZ 

dh vk;q rd vius in ij cuk jg ldrk gSA 

¼ch½ loksZPp U;k;ky; ds U;k;kèkh'k viuk R;kx 

i= eq[; U;k;kèkh'k dks nsrs gSa 

¼lh½ laln dh flQkfj'k ij jk"Vªifr }kjk mls 

gVk;k tk ldrk gSA 

¼Mh½ mPpre U;k;ky; ds U;k;kèkh'k dks 

dnkpkj dh fLFkfr esa gh gVk;k tk ldrk gSA 

100- mPpre U;k;ky; ds U;k;kèkh'k dks 
dkSu gVk ldrk gS \ 
¼,½ loksZPp U;k;ky; ds eq[; U;k;kèkh'k 

¼ch½ dsoy jk"Vªifr 

¼lh½ dsoy laln 

¼Mh½ laln vkSj jk"Vªifr nksuksa 

 

 

 

 

 

 



 

 



 

 

 


